CLASS : 12th (Sr. Secondary) Code No. 4308
Series : SS-M/2019
Roll No. SET : B

AT

ACCOUNTANCY
[ Hindi and English Medium ]
ACADEMIC/OPEN

(Only for Fresh/Re-appear Candidates)

Time allowed : 3 hours | [ Maximum Marks : 60

° FYT Fig F T fF 3T geT-vA § FRT gO 16 T
J97 25(11+7+7) &
Please make sure that the printed pages in this

question paper are 16 in number and it contains
25(11+7+7) questions.

o 797-97 H Flfe7 & # S /7 17 FE T T G FH
B F-Yiael % J&g-95 §T [7d)
The Code No. and Set on the right side of the

question paper should be written by the candidate
on the front page of the answer-book.

® YT J97 F FIV [i@T §&@ #I7 d el JIT B FHEH
T [7g)

Before beginning to answer a question, its Serial
Number must be written.
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o FTT-gikTEr # &5 7 @l o/ 9 T Sig)

Don’t leave blank page/pages in your answer-book.

o FTT-gRaEl # SaRF FE o e T& Hah o
STPTEAGEr & g it frar e 7 #e)

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the uwritten
answer.

o GRS ST T Fo HIT-UF q¢ 9T [or@)
Candidates must write their Roll Number on the
question paper.

® YUY Jo5] 1 FT &7 & {4 I8 GARET T T B 997-97
g7 q 78 & YO % Iy 34 T § #HE A @
&I TE [T TEm

Before answering the question, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.

A 3T -
() ¥8 997-9F T 9 7 e & -
9T - & : STAHE] TEIT TF @EaTeT G
T - § : B @7 §F [T QR ET ey
9T - T FGIHT AG7]

(i) T - S Sffard &1 qErE o7y seBT @ 4T - §
T T - T 7 7 FE F T ET B
(iii) TH F97 BT BN 81 HAF HIT B F GG WHT
TR T 8
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(iv) F97 @@ 1@ 6 F 12 @7 13 % 377 15 7 20
=] 7 g Tur 997 geqr 7 4 10 714 § 16
% FIT 40 & 50 =1 7 [@)

(v) 797 G&gr 11, 17 77 18 ¥ of<ii% 8¢ FYoree]
8

General Instructions :

(i) This question paper is divided into three
Parts :
Part - A : Not for Profit Organizations &

Partnership Accounts.

Part - B : Company Accounts & Analysis of
Financial Statements.

Part — C : Computerized Accounting.

(ii) Part — A is compulsory. Candidates have
to attempt any one part from Part — B and
Part - C of their choice.

(iii) All questions are to be attempted. Marks of
each question are indicated against it.

(iv) Give answer Question Nos. 1 to 6 and 12 &
13 in 15 to 20 words and Question Nos. 7 to
10 and 14 to 16 in 40 to S0 words.

(v) Internal choice is available in Question Nos.
11, 17 and 18.

| -
PART - A

(ST HeEE Td e @)
(Not for Profit Organizations & Partnership Accounts)
1. “IEERE b B FAE (AFed TR) H o S 1

Explain Payment of Honorarium.
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2. F UH a9k B H GEEN & Thar & ¢ U

it 1
Is a minor be partner of partnership firm ?
Explain.

3. ‘W IN T wHHHHA2: 1D AU & Ar-ail ared
g@m%w@ﬁwﬁ‘a’ﬁ%m%mw
GIECEECE Rl
T | YU ST i 1

'A' and 'B' are partners in a firm sharing profits
and losses in the ratio of 2 : 1. They admit 'C' as

new partner for %th share in profits.

Calculate new sharing profit ratio.

4, ‘BT Y Y FT 9IS B 7 1

Write the meaning of 'Drawings'.

5. B8 § UF T RGN B9 SHET S bl & ° 1

How can a new partner be admitted in a firm ?

6. YNl TId g TTHEGT T § B3 g o} foray

Write one difference between Realization
Accounts and Revaluation Accounts.
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7. 9 o 9 AE @d | 31 REWR, 2017 @ g

99 H A Tl AR HIT 4
i 7 AT z
Y R &R T | 13,000 | fHET (11 7EN & fE) | 8,800
Tl (a8 2018 & S 120
500 %) | 29,000 | I 13,200
ASlle TRl o | 1,250 | BT 3,000
fFEm | =S Y AW o S T 19,530
(7% & ©h a9 | 1,400
)
44,650 44,650
31-12-2016 31-12-2017
(i) SepTAT =<l 1,500 % 2,400%
R A € 250 3 700 3
(i) dFT 1 STEREER, 2017 & T a¥ & fow faaw mm
Prepare Income and Expenditure Account for the
year ended 31st December, 2017 from the
following Receipts and Payments Account :
Receipts 4 Payments ¢
To Balance B/d 13,000 | By Rent (paid for
To Subscriptions 11 months) 8,800
(including year By Insurance 120
2018 ¥ 500) 29,000 | By Salaries 13,200
To Life time By Stationery 3,000
membership Fee 1,250
To Interest on By Balance C/d 19,530
Investment (7% p.a.
for full year) 1,400
44,650 44,650
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Additional informations :
31-12-2016 31-12-2017
(i) O/s subscription % 1,500 32,400
Stock of Stationery 3250 T700

(ii) Insurance paid on 1st October, 2017 to run

for one year.

8. O, AN T WHWHH #2:3:5% Iud §
H-g dfed W EERR F Iel i G s
2,00,000 %; 4,00,000 %; &R 8,00,000 % i I
2017 ¥ §oft W & 10% dIe W & T 12%
qIieh & § T

METH HHMEINH &N & S5 STEedd qqEeH Jate
T 4

'A', 'B' and 'C' are partners in a firm sharing
profits and losses in the ratio of 2 : 3 : 5. Their
fixed capitals were ¥ 2,00,000; % 4,00,000 and X
8,00,000 respectively. Interest on capital for the
year 2017 was credited to them @ 12% per

annum instead of 10% p.a.

Pass necessary Adjustment Entry after

showing necessary adjustment.
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9. ‘TR X ‘AR’ T ®H § 3 : 2 F U H{ ae-ei
Sfed §T GRER &1 S99 S H BH § AT fEm T
AH-BI STU AT 2 : 1: 1 B8R M ‘SIS’ oA feed &l
i 25,000 ¥ Seha AN

S H AT B G @ 12,500 3 BH @
gl | fEE E 3
T P JETH H TasE e giaftedt Hif) 4
'X' and 'Y' are partners in a firm sharing profits
& losses in the ratio of 3 : 2. They admitted 'Z' as
a new partner and new profit sharing ratio will
be 2 :1: 1. 'Z" brought X 25,000 for his share of
goodwill (premium) in cash.

Goodwill already appeared in the books of
the firm at ¥ 12,500 at the time of 'Z's
admission.

Pass necessary Journal Entries in the
books of the firm.

10. TF & H S X T 3 : 2 & IFUE H HWEER o
31 AR, 2017 H I8 EH H THGT B B O
fopa, S THg Rafy 39 g ® ¢
gl @Rl gEhE 20,000 3 AN e
5,000 ¥ &R WHE 6,000 | Yol HAM: 18,400 T M
10,600 % 2|

=l TRl | agat 41,800 3 R AR) derEr

q 4,600 ¥ & Bl AER 5% HH o4 I TEHd & T
HUGT &9 400 % 41l

ELSIREISIICE | EY 4
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'D' and 'R' are partners in a firm in the ratio of
3 : 2. They decided to dissolve their firm on 31st
December, 2017. The position is follows :

Assets : Fixed Assets ¥ 20,000; Current Assets
¥5,000 and Cash in hand ¥ 6000. Capital
¥ 18,400 and X 10,600 respectively.

Fixed Assets realized ¥ 41,800; Current Assets
¥4,600. Creditors agreed to accept 5% Less.
Expenses of winding up ¥ 400.

Prepare Realisation Account.

11. 1 S9ad, 2018 & ‘TR, 9R’ R S’ @ fugl, S
fp el Bl ool Tolt oTur # afed ¥, 39 UK R
FRENIT 7 AT 4

fafae aM_R 10,000 | ¥ A 8,000
T T 1,000 | fafae I_R 7,500

GIEE B RCIN|| 7,500 | HERI-3TRISHE = 500 | 7,000

ot : ‘T 22,500 | @i 17,500

‘qrg’ 15,000 | fafmrT 6,000

Y 7,500 | T TRt 25,000

63,500 63,500

S fafy @ S’ Fefofad dl ) STaRIeT T8
HAT ©

(i) T g B g 10% A fhar S

(i) faf=ET &1 geaiw 5,000 } W {61 ST

(iii) THE ITER W
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(iv) ®H & @G H qAHT 4,500 ¥ W T S
YT @, HEeR & Sl @ e Gented
frger TaR FifTm 8

The following is the Balance Sheet of 'X', 'Y' and

'Z' on 1st January, 2018, distributed the profit
in capital ratio :

Liabilities 4 Assets 4
Sundry Creditors 10,000 | Bank Balance 8,000
O/S Expenses 1,000 | Sundry Debtors 7,500

Profit & Loss A/c 7,500 | Less : Provision (=) 500 7,000

Capital : Stock 17,500
X' 22,500 | Investment 6,000
Y' 15,000 | Fixed Assets 25,000
'z 7,500
63,500 63,500

'Z' retires on the above date on the following
conditions :

(i) Fixed Assets be reduced by 10%.

(i) Investment are revalued at ¥ 5,000.

(iii) Debtors were all good.

(iv) Goodwill of the firm be valued at X 4,500.

Prepare Revaluation Account, Partners'
Capital A/c and Revised Balance Sheet.
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YT

OR
U WERR & YA & 999 oM @ (HifEm) @
qAGiRT [hH JBR BT ? 8

Explain the accounting treatment of goodwill
(premium) at the time of admission of a New
Partner.

A - §
PART - B

(ot @a e o feRet @ s

(Company Accounts & Analysis of Financial Statements)

12, focii faeRelt & fasqwer @ #% @ S i 1
Write any two limitations of Financial Statement
Analysis.

13. foRig el & fsver & &g & oo fau 1
Write any two tools of Financial Statement
Analysis.

14. = geeel @ Vih Jad AU S o 4

() % fER 3,75,000 7%,

(i) 9RPFHs ik 25,000 %,

(ili) orf<™ €f® 35,000 %,

(iv) Hebel S TN {6l T 20% I &X Al
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Find the inventory turnover ratio from the
following informations :
(i) Total Sales X 3,75,000;
(i) Opening Inventory X 25,000;
(iii) Closing Inventory ¥ 35,000;
(iv) Gross Profit @ 20% on sales.

15. F=icied germ & Hage Bearell @ g8 Uhs Jame i
O HITT 4

31-12-2016 31-12-2017

q3fF0 (W.D.V.)
JUiiad g9 | 3,00,000% | 3,75,000 %

(i) 50,000 T FH AFE H A, AR THET 59
15,000 % &, 30,000 % & = T4

(i) a¥ 2017 & FAMTA I 25,000 T BH TN T |

Calculate Net Cash Flow from investing activities
from the following information :

31-12-2016 31-12-2017

Machinery (W.D.V.) | %3,00,000| % 3,75,000

Additional informations :

(i) Machinery Costing ¥ 50,000 on which
¥15,000 accumulated depreciation was
sold ¥ 30,000.

(ii) Depreciation charged on machinery for the
year 2017 % 25,000.
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16. ks YA faaver # HE v gl fiigw 4

Write any four limitations of Cash Flow

Statement.

17. {9 ff#¢E 3 100 % 9 3,000 GHAT AT THII T
Frife b g TR &1 I 39 9K B

JMEET X 30 3; 9fed WX 30 %, QO 999 9
JAfH AT T) 40 R

T S, BE® 9™ 200 Sy &, AT WA W@
TIAE Tl Ias sl & = & form T iR
50 % giel {1 Yoren g Frite A R

T B GRIH H TAgE S Sraftedt Hifvr) 8

Ram Limited makes an issue of 3,000 equity
shares of ¥ 100 each at par. The net amount is

payable as follows :

On Application ¥ 30; On Allotment ¥ 30,
and First & Final call ¥ 40.

A shareholder holding 200 shares did not
pay call money. His shares were forfeited and re-

issued at ¥ 50 per share fully paid up.

Pass necessary Journal Entries in the books of

company.

4308/(Set : B)



(13) 4308/(Set : B)

AT
OR

M & BT W AU N G & ¢ A B B &
ﬁwaﬂﬁaﬁmwaﬁsﬁ%waﬁraﬁaqﬁw
| 8

What do you mean by forfeiture of shares ?
Explain the procedure of forfeiture of shares and
give journal entries of forfeiture of shares.

18. = awmell § & @ gawl H, 3,800, 7% FOIGH
100 X aeli % fqHe i SAEedeh el Jafedr i @ 8

(i) OIS H M YT T, 100 % a1 T 10%
FOE H UREed #Rd B TN AT FOE 5%
Fart ) it e

(i) T H MET 5% WEEH W 100 T 9@ 8%
qaiieeer Siell H Recs &b A T iR
A T W G e

Pass necessary Journal Entries in the books of a
company in the following cases for redemption of
3,800, 7% Debentures of ¥ 100 each :

(i) Debentures redeemed at par by conversion
into 10% New Debentures of ¥ 100 each
issued at discount of 5%.

(iij Debenture redeemed at a premium of 5%
by conversion into 8% preference shares of
% 100 each at par.
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13.
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g
OR
frfcie @t sre i ¢ 8
(31) woTaEl &1 QS F e, qen
(@) FoTE B oA d G S
Discuss the following :

(a) Redemption of debentures out of capital,

and
(b) Redemption of debentures out of profits.

{1 -9
PART - C

(Frgelea dei)

(Computerized Accounting)

FGHA AHT § AT T T © 7 1

What do you mean by Computerized Accounting ?

TN Sfafte 3 2 Hifg| 1

Describe Adjusting Entry.
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15.

16.

17.
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ST T Red & TRl @ 3o it 4

Explain the types of Data Processing System.

FYCNHA AEHT IO § A T T & ¢
P T AT SR 4
What do you mean by Computerized Accounting

System ? Give any three advantages of such

Accounting System.

TEY TS Ol & T SYAT & 7 4

What are the uses of Database Management

System ?

@Qﬁwfr%ﬁmqiﬁﬁrﬁwmﬁ%ﬁﬁﬁr
T 1 g9 BT

Describe various steps in the design view
method to create a query to MS-Access.

YT

OR
A &1 2 ? = RO 90 % A qlet & avie
i) 8

What is Report ? Describe various methods of
creating a report.
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18. BEfic A2 ? Q=i T (Grid) A AR R ? 8

What is Spreadsheet ? How is grid different from
spreadsheet ?

HAYAT

OR
Gedfic & FYITA qU dfforbd HAI F HR W
it 8

Clarify the difference between computational
and logical functions of spreadsheet.
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